ST UDY OO ENTIRE
PROFIT & LOSS Work Sheet

Profit=S.P - C.P

(S.P-C.P)
op = 22 ) 00
Profit % P

Similarly
Loss=C.P-S5.P

(C.P-S.P)
o = ———2" %100
Loss % CP

1. 11 Guenmmdasefler oI dsalemev 10 Cuemmdsefler alBp alemevd@ FLOb  slelled

BTl FHAIHLD
The cost price of 11 pens is equal to the selling price of 10 pens. The profit per
cent is
Solution:
If CP of x articles =  SP of y articles.
aummIglw  QuT(pL Bafler X elewtenibens = alBp  OuTHLsefller I
61600160011 b6 &
X— 11-10
PO, = yxloo{ }100:10%
y 10

2. 8 Qumpl seflet oI &5 alewev 10 GQUTHL HeMlet alBGD allenevd@ FIDD  6T6i60

bagl FHAIHLD
The cost price of 8 articles is equal to the selling price of 10 articles. Then the

percentage of loss is
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If CP of x articles = SP of y articles.
oIl QUTBLSefer X eamrenlibams = alBp GummL sefler Y
61600160011 b6 B
— X 2
L% =L —= %100 = -=- x100 = 20%
Yy 10

3. A shopkeeper allows a discount of 10% to his customers and still gains 20%.
Find the marked price of an article which costs Rs.450 to the shopkeeper.
R  BOLSBMIT S UTIQHMBWITNTHEHHEG 10%  Hotebuy  HbhHIb, 20%
BeoTUID  SIeML BGTBIT. R Oummefer o ewiend alemev  H.450  eleflev,
SILGUTHeller @GNS alemevenulds &Tes.

100 + sorid %
GBS alewev = x o161

100 — s6it 615010 %
_ (100+Gain %)
100-Discount %
R (100 +20) <450
(100-10)

= 120, 450=Rs 600
90

xC.P.

Marked Price

WORKSHEET

1. By selling a table for Rs. 1,320, a trader gains 10%. Find the C.P. of the table.
a. 1188 b. 1200 c. 1250 d. 1100

alwmur®  @meut I 1320 &@& o Goamgomw 10% Georusded alBBIT  eTaied
SISO DILHS AlMEVNUIS HTETALD.

a. 1188 b. 1200 c. 1250 d. 1100

2. Aloss of 4% was suffered by selling a plot for Rs.1560. The cost of the plot?
a. Rs. 1625 b. Rs. 1265 c. Rs. 1525 d. Rs. 1575
RHAUT @ Wweeiedw h.1560 @ B Curs 4% FHeiHd HOJL DL BB
6TeN60 SIDLDemETUTET I HHallensd UWITGI?
a. Rs. 1625 b. Rs. 1265 c. Rs. 1525 d. Rs. 1575
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3. By selling an article for Rs. 480, a person lost 20%. For what amount should
be sell it to make profit of 20%?
a. Rs. 800 b. Rs. 760 c. Rs. 720 d. Rs. 680
QHaUT 6@ Gummeflenst 480 cpUTUISG alBUMmET CFUISHTED, DleU(HDHEG GBLGBLD
BagLD 20% SeuBbG 20% Seorud HoLdd  GeuewiBd  6ISIBTeL, DibHBHLI
QuTHefleneT SIAUT eTHHemerr HLTUISE alis Geuewi(BLD?
a. Rs. 800 b. Rs. 760 c. Rs. 720 d. Rs. 680

4. By selling a watch for Rs.144, a man would lose 4%. For what sum should he
sell it to gain 25%7?
a. Rs. 178.50 b.Rs. 18750  ¢.Rs.190.75  d. Rs. 150.75
QR BYBMISHemer h.14465@ alBGh Curgk 4% Bad b gBuBGBBEH. 25% eomub
gmuL CouewiBLD eTedlleL eTaiienl allemevd@ alBd Geuemwi(BHLb.
a. Rs. 178.50 b.Rs. 18750  ¢.Rs.190.75  d. Rs. 150.75

5. A merchant loses 9% on his outlay by selling goods for Rs.650. Compute his
gain percent if he sells his goods for Rs. 750.
a.7% b. 9% c. 5% d.11%
@@ elwrumfl  QuTL.dmen @5.6505@& aIBGWeUTEH 9% BmajL oL SprT. 265
Qummemer ¢h.7505@ aBGHD CuIZH e6lealeTe] FHRAIHLD 60TUD HlewL SHEGLD?
a.7% b. 9% c. 5% d. 11%

6. The percentage profit earned by selling an article for Rs. 1920 is equal to the
percentage loss incurred by selling the same article for Rs. 1280. At what
price should the article be sold to make 25% profit?

a. Rs. 2000 b. Rs. 2200 c. Rs. 2400 d. Data inadequate

QM Oummener 5.1920 almevd@d alBumer GCFUIMGHTEL HLSHGW  BeorL
FHaigpb 96s OGummenen 5.128065@ alBuUmeT OFUIFHTED HlMLSHGWD HLL
FHAHHHBGHF FIOD LGLD. 25 56015 SeuTudHmall Gup  Geuewi(Bd 61660
SIhSHL QUTHemen eleie alenevd@ alls Geuewi(BLd?

a. Rs. 2000 b. Rs. 2200

c. Rs. 2400 d. Gurdw smaied Bedenev

7. Xsold an article to Y at a gain of 10%, Y sold it to Z at a gain of 20%. If Z paid
Rs. 2,640 for it, what did it cost to X? (in Rs.)
a. 1500 b. 1700 c. 2000 d. 2500
o Ourmenenr X, 10% @eumu aigdhded Y H@b, Y oiCurmensn Zobg 20%

BTl aIHHHID aIBHWITH6T. 7 DIFBE 052,640 CBTHHHHHBHT, X DO
QUTRISIT alenev?

a. 1500 b. 1700 c. 2000 d. 2500
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10.

11.

12.

13.

| APP# 100 |

A man bought toffees at the rate of 15 for a rupee and sold them at the rate of
12 for a rupee. His gain per cent is:
a. 20% b. 25% c. 33.33% d. none of these

QU BUT @ eHUTUISHE 15 6B aihHHe0 @NlILHmeT aITRIS, DML
pUTUISEG 12 el aiHsHFHe0 alBumer OFUIHT6D, SaUHMLW Seorl al(1p&ST(H:

a.20% b. 25% c.33.33% d. Baummiein e1gie|levemev

A man sold 60 chairs and had a gain equal to that of the selling price of 20

chairs. Find out the profit in percentage.

a.45% b. 65% c. 50% d. 100%

QU [BUT 60 HIBETeVGEmeT alBumer OFuigkl, 20 bHIBSTeUH6MT  alBLen6oT
alemevd@ gLwiomel OHTendmul  @eTULOTSL  GUBBTT. SeUTUD 61HHMT  FHATHLD
oTeTml  HeWT(HLIIQSHBHALD.

a.45% b. 65% c. 50% d. 100%

By selling 240 apples, a fruit seller gains the cost price of 20 apples. What is
his gain percentage?

a.71/3% b.81/9% c.91/3% d.81/3%

@ uwp elwmumf 240 Snileisenen alBumenr OFUIH, 20 SlileTHeller S s
alemeud&HF FLowmer GeoTUSHmSL CUBISBTT.  Dleurdl S60mLiD 618> &H 6601
g5 eIy HewiBLIgSSaD?

a.71/3% b.81/9% c.91/3% d.81/3%

A merchant has 100 kg. of sugar, part of which he sells at 7% profit and the
rest at 17% profit. He gains 10% on the whole. Find how much he sold at 7%
profit.

a. 60 kg b. 70 kg c. 30 kg d. 75 kg

@  olwmurf  Herel(peiien 100 HBeom  FTddmyuled @@ UGHmw 7%
BeumusHBGL  WBHow 17% @eomusHBad  alBEg Curssssed 10%  eomuid
SIMLHESHTO 7% BeoTusHHed alBm FThsamuies oi6me]

a. 60 kg b. 70 kg c. 30 kg d.75 kg

Find the single discount equivalent to a Successive discount of 30%, 20% and
10%.

a.32.6 b. 49.6 c. 50.4 d. 35

30%, 20% wmmpid 10% eem  Semeled LIQULIQUITET  H6eNTEHLIQHE — E)6n6TUIT6T
QBB HETEHLIQENUIS HewI(BHLIGSHSH6LD.

a.32.6 b. 49.6 c. 50.4 d.35

A trader marks his goods 40% above the cost price. He sells them at a
discount of 5%. What is his loss or gain percentage?
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14.

15.

16.

17.

| APPES L0)

UuDyY CEN
CHENNAI

a.40% Loss b. 33%Gain c. 30%Gain d. 35% Loss

@@ alwmumh @@ Qummener euThid DiH6aT aleneouied 40% 2 wiTsbHd G HBTT.
oImH D% Hel@pUy CFUILH IBBIT. DIBHSGHD DML SHH BeUTU Dle0e0BHI HLL
FHAIBHID 616076017

a.40% Loss b. 33% Gain c. 30% Gain d. 35% Loss

A merchant sells an item at 20% discount. There by gains 20% profit. If he
won’t allowed any discount, what is his profit?.

a. 50% b. 10% c. 20% d. 25%
R olwrumfl q@m Oummenen 20 FHelsd HeleEpUQHEG alBumer GFUISIMBT.
oIHer  aumuileord ST 20 FHalsH GeoTuHmSL CUBIFMTT.  SauT  HelEmHLIg
TMBUD DIDIDSHEBHNVMEL 6163160, DIAUHEML I E6UTLID 6161166, ?
a. 50% b. 10% c. 20% d. 25%

A tradesman marks his goods at such a price that after allowing a discount of
15% he makes a profit of 20%. Find the marked price of an article which costs
him Rs. 850?

a. 1020 b. 1200 c. ¥2000 d. 1150

QRH AUTHHHT Heilalenl W QUTHL SeweT, 15 FHaldh HelEpLigenu! aupmSwl LIBG
20 gmels @eomubd  Gupid  euemsuled, ek GPUILL  alemevdd  alBs
BeenbSHMTT.  5.850 allewevujelien @@ Oummeden alBumen OCFLIMISBEG 6T
BliTerruil Sleien alenev 6levTenr?

a. 3020 b.¥1200 c. 32000 d.¥1150

A bicycle is sold at a gain of 16%. If it had been sold for Rs. 20 more, 20%
would have been gained. The C.P. of the bicycle is

a. ¥400 b. ¥500 c.¥600 d. ¥750

R Wdaemingmuwl 16 FHaisbd eTuHHe0 aIBCmer. oibs LFHleuemigenul ep.20
SFB0TE  AIBBlHHSTEL, 20 FHAIBHD 60UTUD FHMLHH(HEGW. LOgleueuriguiler
UTRISIW alensv?

a. 400 b. ¥500 c.¥600 d.¥750

A television set was sold for I 14,400 after giving successive discounts of 10%
and 20% respectively. What was the marked price?

a. 20,000 b. ¥10,000 c.¥15,000 d. 18000

QLT HemepLigser WwemmGuw 10%, 20% eemersn @k GsmenevdsT 1 G iy
14400 &@ IBSIULLSE elafled DHET GHBHD alensv eleiten?

a. ¥20,000 b. ¥10,000 c. ¥15,000 d. ¥18000
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18.

19.

20.

21.

22.

| APP# 100 |

A chair originally costs Rs. 500. It was offered for sale at 108% of its cost.
After a week the price was discounted 10 % and the chair was sold. What was
its sale price?

a. ¥540 b. ¥500 c. 440 d. 486

m BIBaTelulsr  ouglitenL.  allewev  ¢h.500. S DISMIMLUI  DIF6D
allemevenwienwi’l Gumev 108 FHaisld WHIIBEG IBUMEIHEG aIPHISILIGSBSI.
@Mm e OFap UIBE, 9ObHH alwew 10 FHAIHD eMaSEGHS GMBHIA
alpuemer CFUIWNILGSBSH. DS alBLID6T alenev 61660 ?

a. ¥540 b. ¥500 c. 440 d. 486

A man sold two articles at ¥ 990 each. On the first article, he gains 10% and on
the other, he looses 10%. Also, find the gain or loss percent in the whole
transaction.

a.1% Loss b. 6.25% Loss c. 1% Profit d. No Loss, No Profit

QBT O Ul smen  @elQeuTarenpud I 990 &@ IBAGIBIT.  (LPH6D
Qurmemer 10% BSeomusHBEHD wBBewsd 10% HLLSHBGWD B GBTT  6lafled
®e0TUID &I606VFHI Bl L FHAIHHMBUID BHT6T6LD.

a.1% Loss b.6.25% Loss  c. 1% profit d. No Loss, No Profit

The price of an item inclusive of VAT is Rs. 9,720. If VAT is 8 % then the cost
price of the item is

a. 9,000 Rs. b. 9,100 Rs. c. 9,120 Rs d. 9,200 Rs

HIFL G el ar @m Gurmelear afemev ep. 9,720. wH] gl G oufl 8%
a6l DIHET DILHDH allenev 6T6d60T7

a. 9,000 Rs. b. 9,100 Rs. c. 9,120 Rs d. 9,200 Rs

A shopkeeper mixes 20 kgs of rice which cost Rs.5per kg with 35kg of rice
which cost Rs.7per kg. Then he sells the mixture at Rs.6.50 per kg. Find his

profit percentage.
% .3—=%  A—% . 3=%
a. 3% b 67 c. 459 d 59

RH SOLESHMT HidlLlD HHS dh. 5 &S aleveoueiien 208 SifiFenwiujid.
(h.7 SILSS alemeoueiien 35 HGeomr SflFenwiuyd e&IBITS &evpbd  HGeom .
6.505@ QIBMBIeL DleU(HdHEG HMLESGHWD TUSHET FHaIHD  6T6iieon?
40 64 43
% 3% LA—% . 3—%
a. 3% b 67 0 c %59 d 59

40 64 43

The cost price of 11 pens is equal to the selling price of 10 pens. Find the loss
or gain percent.
a. 20% loss b. 10% loss c. 10% gain d. No loss No profit
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23.

24,

25.

26.

-
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11 Guenmssaier oL dbsalmev 10 GCuemmssaier alBm  almeudE&Hs &L  6leled
®e0TL 9IeLVGH! Bl L FHATHHNHD HT6WIH.

a.20% prL b.10% pLLD

c.10% eomub d. BLLID B6demev 6OTUID B606m6V

Raju bought a motorcycle for & 36,000 and then bought some extra fittings to
make it perfect and good looking. He sold the bike at a profit of 10% and he
got a selling price of & 44,000. How much did he spend for the extra fittings
made for the motorcycle?

a. Rs. 4000 b. Rs. 4300 c. Rs. 5000 d. Rs. 6000

yma 36,000 &5 e GurlLT Fsdlemen eummid, SiHear CHmmmL  GLmTeley
Bel@ Semoweyd Gwend HaWwmBUled Guitisead Fev BFHT ULTHHISEMENLI
GurmebHert. ey ouGworLnt engbdemen 44,000 &g 10% GeoTushded
QBB 6Tedl60 EFHJ LTSHMIGBET 6UTHIS 6l6lalene] GlFeve| GEFUISHTT?

a. Rs. 4000 b. Rs. 4300 c. Rs. 5000 d. Rs. 6000

A man sold two varieties of his dog for & 840 each. On one he made a gain of
40% and on the other a loss of 40%. Find his overall gain or loss.

a. No profit No loss b. 20% profit

c.10% loss d. 16% loss

RMaIT  Hertel(peiten @ alemd Hrulemenr 40% GeorusdHed I 840 &G, Geum
a0 euemd prulemer 40% prLHHo I 840 alBmrT eefled, GOTHE @60TLID
SI6060FH OIOTHSH BLLLD HIT6wIH.

a. BUL(peveney BeUTLI(PLOVENED b.20% @sevmuib

c.10% pLLID d.16% ®LLD

A shopkeeper allows a discount of 10% to his customers and still gains 20%.
Find the marked price of an article which costs ¥450 to the shopkeeper.

a.3500 b.¥600 c.¥700 d. ¥550

R  HOLSBMT  HT TSNS WTeNTHEHHEG 10%  Hemepuy  Hhaid, 20%
BeuTud SIML BB, @ Gum(hefllar 2 euenid afemev 450 erefed, SIIGLITHeTes
GNHS alenevenuid HTeNISH.

a.3500 b.¥600 c. ¥700 d. ¥550

A dealer allows a discount of 10% and still gains 10%. What is the cost price
of the book which is marked at ¥220?

a. Rs. 160 b. Rs. 140 c. Rs. 180 d. Rs. 200

P USSBSHE alemevuled 10% seiepuy CFuisTed e elwruridsg 10%
Beorud Bl SHHGBEH.  DISSESHET  GPHH elwev I 220  e@iled, DiHest
SILGHS alemev WTgi?
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27.

28.

29.

30.

a. Rs. 160 b. Rs. 140 c. Rs. 180 d. Rs. 200

A trader buys and article for ¥1,200 and marks is 30% above the C.P. He then
sells it after allowing a discount of 20%. Find profit percent.

a.2% b. 2% c. 4% d. 5%

@ elwrumfl ¢@m Oummenen 1200 &@ eUTRISETT. L] DIHST DI HHaleN60HE)
Gwed 30% o wisHd), GNHH alwe osbdamt. @aBag 20% HeepLy QBTGHS
AlmmIT 6leley, VL FHAIHID HTEWIS.

a.2% b. 2% c. 4% d. 5%

A fruit seller bought 8 boxes of grapes at ¥ 150 each. One box was damaged.
He sold the remaining boxes at ¥ 190 each. Find the profit/loss percent.

a. 5% b. 8.9% c.14.5% d. 10.83%

@m up olwrumf 8 Quily Tl ewgsmern, @@ OGully p 150 ea&m @isbd
UTRISTT. SIFHev @ Uy HIT g S|pd aBSHBH. B HIPeiTen OLIL19Hemer
@@ Gull 190 s almedd aIBHBIT. eotu / BLL FHANHHMBE HT6ID.
a.5% b. 8.9% c.14.5% d. 10.83%

Sara baked cakes for the school festival. The cost of one cake was ¥55. she
sold 25 cakes and made a profit of ¥ 11 on each cake. Find the selling price of
the cakes and the profit percent.

a. 20% loss b. 15% loss c. 10% profit d. 20% profit

a0 ueeflulest elwrelBars gmm, Csd QFUIHT6r @ Bhdbdlar I dsalmen I
55 @aaib. w6t @alleaurm Gasdmasud I 11 Qeomusdng  elBdmrer. 25
Caa@amen alBBHHHTL alBLmeT alensvenWU|D @M FHATHHMSHUID HT6wIH.
a.20% plLi b.15% mrLid c.10% eomubd d. 20% eomuibd

Vinoth purchased a house for ¥27,50,000. He spent ¥ 2,50,000 on repairs and
painting. If he sells the house for ¥ 33,00,000 what is his profit or loss%?

a. 10% loss b. 10% profit c. 15% profit d. 25% profit

am ol «lCrtsh I 27,50,000 &@& eanmmGADBIT. Ut efle  Fi
euieugbatae I 2,50,000 m§F OFwalddprt. ops ofevr I 3,00,000 &6
QlB&SMIT. eealled, Gevmll () BLL FHIHHMBHH HeWIBHLIYSHHALD.

a.10% mLLID b.10% evmLid c.15% eomub d. 25% evmuib
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